| @ e | W | [ ] EMEE BLAMOEDN
- - - = - -"ws s = s ws 8

/I \\%
e T e
T ———— e

[T S— B, —Suen = e T BT ™
S— o T e T | ¥/ )

N\

b

e S
S A T UL T A O [ QL
2 ;

!
v g
ﬁ;{/ L omme= =
| [—T7 |
L i i , T
o i S i !
‘‘‘‘‘ -]l Y 1 i
b | |
o 4 V== i !
Il I
I T
| |
|
\
1| AN W\ ]
AN N g
I 2, \ N 1
ull X
AL, N
1




You need

@ Tools required

A Phillips head scre
wdriver is required for
the assembly of this

product. (not included)

Power tools should
not be used to assemble

@ 2 person is needed

® Take 30 minutes

this product.
‘LovinGuse
Material wood
Colour Grey

Description

Upper, left and right
2 Lower part, left and right
3 Middle upper frame
4 Lower part, door
] Left and right, upper
6 Left and right, lower
7 Door frame

N

Quantity Box Number

2 A
1 A
1 A
4 B
4 B
1 A




Pos. Description Quantity Box number
8 back 3 B
9 back 3 A

="
A @B
10 Small house . B
@c @D ?
11 Platforms 5 B
12 | Brackets for platforms 14 A
13 | Roof parts 1 B
14 | Roof parts for left/right 2 A
15 | Roof parts = 2 A
16 | Roof parts g : A

Pos. Description Size Quantity Box number
A Countersunk screw qmnﬂ M4 x 50 mm 58 +1(gift) A
B Countersunk screw "mmmj M4 x 45mm 24 +1(gift) A
G Countersunk screw mmﬂ M4 x40 mm 8 +1(gift) A
D Countersunk screw 4|mmmﬂ M4 x30 mm 44 +1(gift) A
E Countersunk screw mm(] M3 x 20 mm 50 +1(gift) A
F | Countersunk screw — M3 x 12 mm 14 +1(gift) A
G | Bott % 1 A
H Hinge m— 2

=4 A




PRODUCT ASSEMBLY

&Check the package contents before getting started !
STEP 1

5%

[’
5
Kﬂ\_}



PRODUCT ASSEMBLY

BX 12X c="
STEP 3 > —
5 ,2/
| 51G
== (] - |-
L D |28pPc ) B [12PcC] F = h N
_ 1 ; 3
((¥) 14PqL©@ 8PC| 3 7o @q 1
~ull AW |
/ — -
@ 6PCJ é”m\ ZJ¥
DX 28 X ,




STEP 5

1PC

2PC)| G

|
1apg)(

| @ [pc || F




<l

(o)

pI
LLl

V)




i
- w 4L
/ ‘\m e
/ \.\Ihww!
a7
| e
G / {
 } 1
¥ 3
Y _
P — g 7 R g 4
— == .5. / T 4
O f A N8
- ! N e
o - 4 !
N ==1 5 mwwny  gwmw,
__‘ /l!_—. i o
O
1
-t 1
i} :i.\ -
‘ \ G—— ! \g.-
) \ S
- D \ \ ! i
- R A j /
% f 7 i /
VAN [ o, - n
© / \ NS ! b
—i f ﬁ
\ Z B
o— Bzt
ESE Ty
o \ NS
e <
»
1 8
......... =
(ol S

()
(a1
L




